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General Instructions :

(V)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A
and Section B.

Section A has Objective Type Questions, whereas Section B contains
Subjective Type Questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.
Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)

Answer any 4 questions out of the given 6 questions on Employability
Skills. 4x1=4

(i) What are the four parts of communication ?

(i1) Rahi is detached and aloof and prone to introspection and fantasy,
shows little interest in forming personal relationships and seems to be
emotionally cold. Identify the type of personality disorder she has.

(iii) Mention any two presentation softwares used for digital presentation.
(iv) What are slides in a presentation ?
(v)  What is the role of motivation in getting success ?

(vi) Expand the term CNG.
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5x1=5

2. Answer any 5 out of the given 7 questions.

(i) What is the range of visible portion in EMR ?
(A) 03 um—09 um
(B) 04 um-0-7 um
(C) 02 um-0-8 um
(D) 05 ym—-09 um

(ii)) What is responsible for the green appearance of growing vegetation ?
(A) Leaf moisture
(B)  Plant physiology
(C)  Leaf cell structure
(D)  Chlorophyll

(iii) Which of the following shows highest reflectance in all rock types ?
(A)  Concrete
(B) Bare soil
(C)  Gravel
(D)  Shingles

(iv) Image noise is caused by
(A) distortion in satellite altitude
(B) variation in reflectance
(C) change in velocity
(D) limitation in the sensing instrument

A O e O T e P R e S PN AT
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(v) Identify the correct tone for dry sand in visible spectrum.

(A) Black
(B) Dark shade of grey
(C) Green

(D) Light shade of grey

(vi) Which of the following aerial photos get fuzzy due to atmospheric

scattering ?

(A) Panchromatic
(B) Colour

(C)  Stereo

(D)  Oblique

(vii) Which of the following is not an example of data display in GIS ?

(A) Images
(B)  Graphs
(C) Maps

(D)  Rubber sheeting

3. Answer any 6 out of the given 7 questions. 6x1=6

(i) Which of the following is the final GIS function ?
(A) Capturing
(B)  Storing
(C)  Analysing
(D) Displaying
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(i1) In which model does each entity on a map become one logical record in
digital file ?

(A) Vector
(B)  Spaghetti Data
(C) Raster

(D) Topological

(iii) Which system has its origin on the equator at a specific longitude ?
(A) Everest Datum
(B)  Universal Transverse Mercator

(C) World Geodetic System

(D)  Geographic Coordinate System

(iv) The spatial data is linked with associated attribute data by means of a
common key called

(A)  Unique ID
(B)  Special ID
(C)  Unique number

(D)  Special number

(v)  Which of the following is correct for Spatial data analysis ?
(A) Input — Spatial operation — Output
(B)  Output — Spatial operation — Input
(C)  Input — Output — Spatial operation

(D)  Spatial operation — Input — Output

342 9 P.T.O.



[=]a[s]
s
Of s

(vi) SR8 ST, T SpfoTelier weteqvr fergent T SURHT T 2 2

(A) Sftdiua.

(B) Ersfidiud.

(C) THRSHTCH it dt.Td.
(D) T S .

(vii) Fr=farfaa @ @ sa-ar wem st di g, & e e 78 2

(A) =€ GO § e T e 2 |
(B) € Ut o e e T o B |
(C) IT T <en | fderie qar 2 |
(D) a8 Heaasia SHems 3T e |

5x1=5

4. fuwmue ywi 6 @ forl 5 el o ST AR |
() S ®TE?
(A) THdW
(B) T W YOIl
(C) U Afriee feamsy
(D) Tk HH TR (TEET feamed)
(i) Tore 7 o T TeiT wfshan SwIT 83 2
(A) 9ToToT T
(B) d@IT
(C) s gm
(D) SATRRTGT
342 -0



[=]a[s]
s
Of s

(vi) Which GPS uses National Geodetic Survey markers ?
(A) GPS
(B) DGPS
(C)  Recreational GPS
(D) Mapping GPS

(vii) Which statement is not correct for GPS ?
(A) It does not work in tunnels.
(B) It does not work underwater.
(C) It gives coordinates in local datum.

(D) It gives ellipsoidal heights.

4. Answer any 5 out of the given 6 questions. 5x1=5

(i) What is “Transit’ ?
(A) Astar
(B) A satellite system
(C) A navigation device

(D) A timing device

(i1)) Which Age used the Dead Reckoning Process ?
(A) Stone Age
(B)  Star Age
(C) Radio Age
(D) Space Age
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(iii) Which of the following is used to create 3D models ?
(A) Panchromatic Imagery
(B)  RGB Imagery
(C)  Hyperspectral Imagery

(D) Digital Photogrammetry

(iv) Which of the following is not a digital map information provider ?
(A) Eureka
(B) TomTom
(C) Tele Atlas
(D) Navteq

(v) Which GIS enables organisations to add realtime information to the
database ?

(A) Web GIS

(B)  Mobile GIS

(C)  Enterprise GIS
(D)  Open GIS

(vi) Which of the following is not included in watershed management ?
(A) Land resources
(B)  Water resources
(C)  Industrial resources

(D) Plant resources
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5. Answer any 5 out of the given 6 questions. 5x1=5
Fill in the blanks.
) refers to the general form or structure of individual objects.

(i1) photography involves taking a photograph from two eye
positions.

(iii) is the mathematical representation of the physical
relationship that exists between the geographical elements.

(iv) Each satellite operates in circular km orbits in GLONASS.
(v) lies between Star Age and Satellite Age in the field of GPS.
(vi) was developed and introduced by NAC Geographic Products.

6. Answer any 5 out of the given 6 questions. 5x1=5

(1) refers to balanced utilization of land water resources for best
possible production with minimum risk to natural resources.

(ii)) What is ParallelPipe in image classification ?
(i1i)) What is a Query in spatial data analysis ?
(iv) Mention the reason for clock offset error in GPS.

(v) How many average bands of data are collected in Hyperspectral

Imagery ?
(vi) Suggest any two uses of Geospatial technology in the field of disease
management.
SECTION B
(Subjective Type Questions) (30 Marks)

Answer any 3 questions out of the given 5 questions on Employability Skills.
Answer each question in 20 — 30 words. 3x2=6

7. What are the supporting parts of speech ?

8. How does a healthy diet support a healthy body and mind ? Explain.

345#2 15 P.T.O.
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Explain any two ways to format the content in a spreadsheet.

“Stress management refers to the different ways to deal with stress to feel

healthy, positive and refreshed.” Justify the statement.

Elucidate the importance of Green jobs in Eco-tourism.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12.

13.

14.

15.

16.

Mention the steps involved in DIP.

What is the importance of pattern in the interpretation of Remote Sensing

Images ?

Mention any two ‘Scanning Errors’ in GIS.

Explain any two features of Mapping Grade DGPS.

What is Enterprise GIS ? Explain.

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17.

18.

19.

Which factors affect the quality of aerial photos ?

What is datum ? Explain how WGS84 is better than any local datum used
in GIS.

Explain the system used to identify location during World War II.
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Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. What is Microwave Remote Sensing ? Explain any three factors which

influence the interaction between microwaves and Earth’s surface.
21. Explain any four advantages of Remote Sensing in detail.
22. What is Triangulated Irregular Network ? Explain.

23. What are Coordinate Systems ? Explain the Geographic Coordinate System

in detail with a suitable diagram.

24. Explain the Tangible and Intangible benefits of Geospatial Technology in
our daily life.
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